EARAROBREBRT —5 XN—ZXBISH—F 202448358 (&) 1EEH4E

R B e X BN R

[AXE%E] 1 %&:450,000 ~ 2%&:158,000H  337#%&:90,000M  43%&:45000MH  53&:22,000H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- L4 : -3-3- - JIRSLE  (F2H)

1 4 FPIVZ=ATA—L 4 3 50 1.(??).3 3-3-3-1 37.8 1 (4:&28) it N
R:ZAIU—=rbe—0O— HF:70LIA/4/N\—k HRBRHITIW—RI—-XT7—L
Lo sy s NA—ID : -6-5- = JIBSLE (%4

2K 3| =R¥EOYIVA 3 | HAoD L 6-6-5-4 | 37.9 5 (4_4;; NIl (451
R:03947 B:ZhrvEOL—5— REBUS
=~ it 3 | AREE 1:32.5 5-5-4-5 |39.2| — 4 | 459 | FRLLZEHE (R

3 ) | ZFY 54.0 ®) “3) Sisen
RIRVIRTAvIIAUT— B:FF4vbhIIL—Ib YVAYITT—A

- o0 BAMEE 132, -1-1- . - BHEIES (8H)

45|55 | AM¥avhaFY 3 A 1(312)7 11121 40.8 3 f; MERA

RE—FNRO— B: XAV 3OHAYF=F FOTVURT7—L
— BA%E : -7-7- - KEFEKR (i)

sl1]1|9%L7 i3 | B 1.(323).1 7-7-7-7 | 39.1 6 413;3 %&B%ii A

Ri€r/O0704 B:F4T7—RIN=T) E FF
2P o ~y= o3| FEERE 1:33.2 2-2-2-3 |40.9| - 2 | 47 |BEES (&R

EH 6| 7ILT¥arT 56.0 (172 9 | B EFET-Y

RiVILN—=RF—k B HRXI— BB
CRS v 3 | #IEE 1:34.8 4-4-6-6 | 4.7 — 7 393 | BRHIES (S£A)

717|7| AX—hERSR ! 54.0 ® o | @ S r=AbEYaY
R:FAIAIv— §:AI—hLh—E— HARHAT— b

@ 1—F—&RIEL

13—7F— 5,6,4,7,2,3,1

20—7F— 5,6,4,7,2,3,1

30—7— 5,6,4,2,3,7,1

Mal=5r= 4,5,6,3,2,7,1

o ILRE

BB 4 160M | | 914 K 34 390 B & 3-4 1,560 3EE 2-3-4 1,740M

B B 4 160/ 2-4 210 =51 4-3 2,190 3EH 4-3-2 6,960

3 6504 2-3 730M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




